P —

pns usjyaisuy
00k qoosen oo
oLoLoz ..., n—
no — yonguawwy 64Z2 193
o s

Anlage 4.4

f— g
BanqsBimpn 8£91 2 9 A3SUdI||Y | N u s w : mu : o _ m :<
Hqw yeys|jasabpjalold yuemzioH
g
UBTREIS 7 oA BUNNaIE 99 [4°]
8¥ 99e1)S-SUQT-UUBWIAH
g e eSS s nequn ogel)s-xa|4-19)|epy oyeld}s-xa|4-19) e
6 9geNS JowiByz|am
96 pun g 8geNS-Xa|4-1a)eM
9% 9geJ)S-SUQT-UUBULIBH
19sngyuayjwelyapy Jop Bunyouag
evnng

HoNns3onvg |

0L02°04°02 ‘uayneg 13p

INIY 0L Z6ZTomeIT S0

5

L]

B

o

= —=

o sney

- 0PN

- 0P NO - 0¥ Na -0V N
L7pNS uajydisuy
6 14
agellg Jawisyz|opm ayeJI)S-SUQT-UUBUWLIBH

SZS
S

S SZSZSZS S ST ST 7 s ; S S
D SIS A S 2 % 7 % S > 4
S > > <

oo
X

CH

[ j i T # T
|

s
ez

i === b A
.0rNG Ll 7
| 1] 7 HH p—
I .
- 0P NO

- 0¥ Na - 0P Na - 0¥ Na




